canvm(nm=m)
CiElr'n‘s/n(n2 <m)

it

The correct answer is:

amvn(n? < m)
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nirty terms of the following sequence 0,3,6,9,12,15

& SUR Df.ﬁrSt vat

b.1395
c.1302
41305

e e
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The next term in the following sequence 2, 4,16, 38, 70, is

a. 112
b. 68
il d
d. 42

The correct answer 1s:
12

. p—ag)®(p——-q)is __________
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;i‘ifA hasdelements B has 12 elema‘ M " T and maximum number of elements

- The correct answer is:
12,16

|

]\

i
| !,‘[ }l“l[ l\l |
T W’WM “ I
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What is the type of the following function:
f(z) =2* +5

where the domain is N andthe codomainis N

O a.One to one (Injective)
O b. Onto (Surjective)
T c. One to one correspondence (Bijection)

' d. None of the choices is correct

e. Fis not a function

CamScanner 2 Ldgo d> guuaall



Question 4 ';I

| Which of the following propositions is tautology
| Notyet | _
answered .I O a. n A (—,p‘u' q) e
Marked out ot |
| 200 Ob. —p A(pVQq)—Dp
t" Flag ' b
question O c. —p A (P vV Q) - —p
Od —p A(=pV—q) =P
O e/ None of the choices)is correct ;
Question Assume that the total number of students in the university is 2000. Also, assume that the tc
Mot yet o
answered

number of students taking calculus is 1000 and the total number of students taking physic
700, Assume that the total number of students taking both calculus and physics is 400. W
Marked out of is the total number of students not taking calculus and not taking physics.
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Assuma that the following graph represents a relation. Which of the following is true about the
relation?

a b
c d

() a. Transitive

) b. None of the choices is correct
O c¢. Reflexive and Symmetric

" d. Reflexive, and Transitive

e. Antisymmetric

CamScanner 2 Ldgo d> guuaall



Questicn B
Hot yet
onswered

Marked out of
200

" Flag
question

P —

O e.None of the choices is correct

Assume that the total number of students in the university is 2000. Also, assume that the total
number of students taking calculus is 1000 and the total number of students taking physics is
700. Assume that the total number of students taking both calculus and physics is 400, What
Is the total number of students not taking calculus and not taking physics.

O a.500
O b. 100
) ©. None of the choides is correct
O d. 200

i) e 400
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|| Question 19 || If aand b are ra'!uliual;' prime

| Not yet
answered | then
I, Marked out of | Geb(ab) =
2.00
| ¥ Flag
| question O a.a
O b.b
O .c.l
(I d\erx Iy
¢ e. None of the choices is correct
Question 20 Assume that the anm-Jing graph represents a relation. Which of the following is true about the
Hot yel relation?
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P ORY EROUHIT

@ RNone of the ChOKCos it Cofrrect

wnmmnum&mﬂmmmm

32°(5-3)/%
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I
| |7“?-"l"‘f“t on 17 ‘ How many edges does the complete graph K1 contain?

| Not yat !
answered O a.10
Marked out of
200 O b.20
| ¥ Flag | O €. 35
questian
O d.50

) e. None of the choices Is correct

Question 18 Given the following sequence

Mot yet ‘ X
oRswered QD i 6 ‘
Marked out of al=38
<00 a2=12
[ & -Il -i_i
Iy a3=15
t]H'.*-E-E"Jf'i

Find ald0

v @, 302

(1 b, None of the choices |s correct
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I| Question ]B

Which of the following statements is correct, where the domain consists of positive integer
| Not yet numbers
answered
Marked out of O a. ‘v’y?l::(:r:y = 1)
2.00
¢ flag O b. All the statements are incorrect
question O c.Vazvy(z > y — x* > 3?)
O-d. dzVy(zy =)
U e Ve dyle/+y=/ 1)
Question 17 How many edges does the complate graph K11 contain?
MOl yet
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Question 9

Not yet
answered

Marked out of
200

{~ Flag
question

bt 10

Mol yed

R R LA b ':"-i

What is the converse of the following proposition

if x#y then a=b

() a. None of the choices is correct
) b. if a=b then x2y,

() €. if azb then x=y

i xeythen asb

' © jf x=y then a=b

Based on this graph

»

CamScanner 2 Ldgo d> guuaall
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\ Question 7

\ Nt yet
. answered

| Marked out of

| 200

|

| ¥ Flag
question

—r - n-'——n-r-r\-- -

Whlt:h matrix rarprnsants the trnnalﬂ'.*a clnsum nl’ "
matrix

| 1 0 1
| 00 1 :
| 010

Ca 1 1 1
{uu
311n,<

1 (

-Gb111
‘111
¥ 0 1 1

) c.None of the choices is correct

Od. 1 0 1
‘{} 3 1
0 1 1

) e. [1 1 l‘l

P ) 72 o\ | JI1T
L\lllll"—*w\/' UM\ j"‘/\“

lation rapmmtad by the Inllnrwlng
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Based on this tree

At

.:/ Dy y\

/ 7\

E® F® HI J

Which of the following is correct

1 The nocle H is an intarnal node

b) 1he nedes C and D are siblings

- ROV EROUNI T

-1 = |
0. 0.C only
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[23+ |-3.5-"2.2]] =

O a. None of the choices is correct
C b.-5
G2
QO d.-3

0 e.—4

What is the type of the following function:

flz) = r? +5
where the domain is N.and the cocdomainis N

Foibe Lot o
CamScanner 2 Wgb d>gauaall



| Time left 05936 |

Question3 | Which of the sels is described by the lollowing Venn diagram
rot yel

onswered

Kiorkond out of A

200

1" Fleag
quastion

T aA-(B-C)
b oA-(C-8)
c(r-B)-C
di{a-Cl-H

e Mono of the chouces |5 Corract
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letAbsa3xdmatny Bbe ad x5 maotnx, ond C be a d x & matric Determine one of the
lofiowing products ig delined

T oo(as)c
b. (8a)e
c (ea)a
Q. None ol the choloes is correct

o [AC)E

P@W@R‘@NHT

W 15 thd Crierviies af the lilovwang opanitoe

it weython azh

i || 1§ t|11|.|i'|| [
i el tfiey may
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Expettiin 7 Which matrix represents the transitive closure of the relgsion represented by thi

Pet et mokrin
R L R R T
prthed et bl 1 01
200 oo 1
L ﬂ 1 ﬂ
s L i
“ 11
0 1 1
1 1 b

?OWeHeUNIT

0 1 1

£ o ot P CROCER 18 OoenhEES

doproo o
no1 I]

a 1 |

[ 1

i!+r| f .’1

ln Coad

CamScanner 2 Ldgd d>guuaall



Expettiin 7 Which matrix represents the transitive closure of the relgsion represented by thi

Pet et mokrin
R L R R T
prthed et bl 1 01
200 oo 1
L ﬂ 1 ﬂ
s L i
“ 11
0 1 1
1 1 b

?OWeHeUNIT

0 1 1

£ o ot P CROCER 18 OoenhEES

doproo o
no1 I]

a 1 |

[ 1

i!+r| f .’1

ln Coad
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LIurra a0 15
Mot yot

(6 [RLAT T LR A

Vi iget ongt of
2 0X)

1 ring

|'I|||-|l'_|f.'|r'l.

) ¢.obonly

O d.abc

O e.aonly

xl x2

3 4 x3 x4

il

The value of x3 =

Note: Write only o number is the space provided below

l-.lﬂ '; i I
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. 5 i
The summuation Z}_u 11+ 1) Is equivalent to

select one:

[ HIZ:__IJ{I‘F |;]

() b5 [J' I]

—
oy ¢ o
EJ_IJL;"IJ
' d. None of the choices is correct

E""T":" (-I]

Astume theope 1r1rrf'1 O

W @ Rt@ NHT” a graph

=i i e Y

n
1
1
1

= g [ = e

0 1
LU
11
1 1
LU |

-
=

i

B F iy | i . 5
P I'l [ Thyirs r_|||. .-_l.ll"f:l |5 -'”_]” EREsra g Freas '.1 |:"|'|I .
- - rE [ ] ] II
L L] L
Eif Ihags t N PRyl "”'-"II.-.:I ir [lr-.—;'“I.I_rlrlr_. [

_——
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Question 10 Based on this graph

~ Not yet
nswered
2
Marked out of
2.00
" Flay
question 3
g
1 /N
i H"-
q / 5
. o)
T

Which of the following is true

-

a) Ihe degree of node 215 3

) 24,415 a simple path of length 2

C ,P]—\!Jr'—:%tc-"#[:l number {:I[r"l"'l" an e §
) fpwﬂﬂ ”Jt/g g‘/?ﬂ \
R\72\ »Jf/ 5 [N\

£l on t',_

b a.b only
. CLC Only

cl o only

i 0L Ondy
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In @ full &-gry tras, |l the toto! number of leaves is 13, then tha total number of ecges =

O aB
O b.6
O el
Crd 10
) 8. Nona of the cholcos s cormect

which of the m!lnw{@ @R@@Wtﬁ! ion defined on A=[12.3)

v R= () (20.02.2).(3.1).(3.3)]

"} b Mone of the cholcas is corraot
e B (1) f21).(2a)(23).(31)]
ol w= ({0 (22)003) (30033
o = ) (Led (e () (aa))
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Question 22 In the following sequence

Mot yet
answered y, = 20, + da,_2
Marked out of where”
200 ay =3anda; =1
Y Flag _
question Find a4

O a. 61

O b.B5

Tpe/B2

) . 83

) e None of the choices is correct

s tian 23 LET-

ot TET 'fl'ru.i - Y
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Question 2]

Not yet
answered

Marked out of
2.00

Y Flag
question

3 5 : .
i=12j=2 2L +J =

) 0.102
) b. N4
O c.78

_» d. None of the choices is correct

1 & 06

In the following sequence

IHH — ﬂf“'l‘l | + 3”1] 2
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westion 1l | _30dive =

lot yat
Lt At | O a-B
Aaried out of
100 | O b -5
" Mag Je -4 -
(LG '
0d-3

.} & None of the choices is correct

o tion 12

S 200 e

Blrke] oyt of

1 1) 1 a None of the choices s correct
1" Fiag b :i?Ei‘Jﬁf—
r:|'||ll'.!' it

€.3253-5/"*»
32+6*35/ -

2.325*35-]+ °
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question 14 Assume that the following is the odjacency matrix of a graph

Mol yit
o 1 01 1 W
irrctonct cuit ol 1 0 0 0 1
= 00 g 1 1 0 1
1 1 1 0 1
1 Trag a0 1 0 o :
SN AT

Which of the following is true about the graph?
a) Thetotal numbar of nodes in the graph is 5
b) The groph it undirected

W@W@@WWHW graph s 14

. D only

- 0 05 onky
o b only
i o

i~ M sy |
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Quastion 23

Mot yat
onTaened

Marked out of
200

Y flog
question

1 Tima laft 0-:09 .37
O e.None of the choices Is correct ; -

Let

f(x) = 2 .
gl(x) = 3x-1

h(x) = x+2

Then, ((gof)oh) (x) =

) b. Gx+1
() c. 6x+7
i) of Gx+10

O e. None of the choices 15 correct

In a full 4-ary tree, it the total number of leaves is 13, then the total number of edges =
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